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1 |dbiEE 4.0E+3 25E+3 2.5E-2 2.7E-2 8.1E-1 6,503.2
2 | EHFE 1.9E+3 1.2E+3 7.5E-4 47E-3 3.3E-1 3,146.5
3 |AFR 4.9E+2 1.8E+2 3.4E-2 3.4E-2 1.1E+0 677.2
4 |EEER 2.3E+3 5.5E+2 3.4E-3 2.4E-2 6.9E-1 2,874.6
5 [FEE 2.0E+3 2.6E+2 2,286.6
6 [WLFE 4.0E+3 8.1E+2 1.5E-3 1.6E-3 7.7E-2 48435
7 |fRER 3.9E+2 6.9E+1 7.1E-3 1.7E-2 3.0E-1 462.4
8 |ZHE 1.4E+3 7.2E+2 7.7E-3 1.2E-1 3.0E+0 2,154.1
9 |IHKE 1.0E+3 2.8E+2 5.7E-2 3.6E-1 7.5E+0 1,323.8
10 [BEBE 4 5E+2 1.3E+3 9.5E-3 6.5E-2 1.0E+0 1,774.6
11 |BEE 1.3E+3 9.2E+2 2.7E-3 1.8E-1 2.5E+0 2,269.7
12 |FEE 1.0E+3 6.8E+2 1.6E-3 6.8E-2 1.8E+0 1,709.9
13 |REE 7.1E+0 3.3E+2 1.8E-5 2.0E-3 1.8E-2 3400
IR EEIN 2.7E+1 1.6E+2 6.8E-4 45E-2 1.3E+0 187.3
15 |FiaE 1.2E+3 1.5E+2 3.9E-3 4.6E-2 5.5E-1 1,306.1
16 [EWE 1.7E+3 3.2E+2 2.9E-2 1.5E-1 4.8E-1 2,019.5
17 |BINE 1.4E+3 8.0E+1 3.2E-3 3.5E-2 4.4E-1 14413
18 |f@HE 1.7E+2 2.1E+1 7.5E-3 1.5E-2 3.4E-1 194.4
19 [IRE 9.8E+1 1.1E+2 213.0
20 |[EHER 4.0E+2 2.5E+2 2.0E-2 2.4E-2 3.8E-1 652.9
21 [IFRR 71E+2 3.2E+2 1.5E-2 3.5E-2 1.2E+0 1,031.7
22 |BEE 3.7E+2 4.6E+2 6.1E-4 9.5E-3 2.3E-1 831.2
23 |EmE 6.0E+2 1.3E+3 2.0E-2 3.3E-1 3.3E+0 1,855.7
24 |=ZER 6.1E+2 2.6E+2 3.2E-3 1.6E-2 3.6E-1 873.1
25 [#HER 5.6E+2 2.4E+2 6.5E-3 2.7E-2 8.9E-1 803.9
26 |FRABAT 2.7E+2 8.2E+1 352.5
27 | KB AF 5.7E+2 2.4E+2 1.9E-3 2.2E-1 2.3E+0 816.5
28 |EER 1.2E+3 4.5E+2 4.8E-2 5.1E-1 9.3E+0 1,631.1
29 |=BR 6.6E+2 2.0E+1 1.5E+2 2.1E-4 5.8E-4 1.9E-2 8275
30 |[FnERLE 6.7E+2 1.2E+3 1.6E-4 1.3E-3 1.9E-2 1,901.0
31 |BRE 3.6E+2 1.4E+2 1.1E+2 609.8
32 |BRE 1.7E+2 1.8E+1 3.7E-4 1.4E-4 1.9E-2 184.2
33 MR 7.2E+2 2.7E+2 1.3E-2 6.4E-2 1.9E+0 986.3
34 |IEER 1.7E+3 2.0E+1 5.3E+2 1.4E-2 2.0E-1 1.8E+0 2,229.2
35 [lWOE 3.2E+2 1.1E+2 4220
36 [EER 7.8E+1 7.0E+1 2.1E-4 8.5E-4 3.9E-2 148.0
37 |FBIIR 9.7E+1 5.9E+1 2.8E-3 8.2E-2 7.9E-1 156.4
38 [BER 4.4E+1 3.0E+2 4.9E+1 1.3E-3 2.6E-3 1.8E-1 393.2
39 |E&E 5.0E+2 2.0E+1 1.7E+2 9.5E-4 3.6E-3 3.5E-2 690.0
40 [ERR 1.4E+3 1.8E+3 9.0E-3 2.1E-1 3.2E+0 3,191.1
4 [{EER 1.7E+2 1.9E+2 6.5E-4 2.7E-2 1.7E-1 365.2
42 |RigE 4.6E+2 2.4E+2 695.9
43 [BERER 1.4E+3 1.0E+3 2,388.1
4 | KH R 41E+2 9.9E+1 513.0
45 =GR 8.0E+2 8.1E+2 1,611.4
46 |EEBE 9.1E+2 1.6E+3 2,537.3
47 [hER 1.7E+1 3.8E+2 8.3E-5 7.3E-3 2.1E-1 3947
ESE 4.1E+4 5.0E+2 2.3E+4 3.5E-1 3.0E+0 4.9E+1 64,820.7
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